	[image: ]Fluency 

[image: ][image: ]

[image: ]



	Problem Solving
[image: ]
	Reasoning

[image: ]


[image: ]Monday – Miss Wood Y3







[image: ]Tuesday – Miss Wood Y3 
	[image: ]Fluency 
[image: ]








	Problem Solving

[image: ]
	[image: ]Reasoning





[image: ]Wednesday– Miss Wood Y3 

	Fluency 
[image: ][image: ]

	Problem Solving

[image: ]
	[image: ]Reasoning






[image: ]Thursday– Miss Wood Y3 

	Fluency 

[image: ]

[image: ]







	[image: ]Problem Solving

	Reasoning
[image: ]





[bookmark: _GoBack][image: ]Friday – Miss Wood Y3 
[image: ]

[image: ]






[image: ]


















image6.png
Tommy thinks that this chocolate bar is 4
cm long.
Is he correct?

Convince me.
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Can you match the equivalent measurements?

9m

900 centimetres 3m
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If a =10 cm, calculate the missing measurements.
[

b= cm c= cm 1 metre =

Tm

] | | .

cm
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Mo and Alex each have a skipping rope.

Alex says,

| have the longest
skipping rope. My

oS skipping rope is 2 %
metres long.
Mo says,
My skipping rope is
the longest because
itis 220 cm and 220
(o)o)

is greater than 2 %

Who is correct?
Explain your answer.
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Three children measured the same toy
car.

Eva says that the car is 6 cm and 5 mm
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Dexter says the caris 5 cm
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Annie says the caris 4 cm 5 mm
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Who is correct?
Who is incorrect?
Explain why.
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Complete the part whole models.
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Fill in the blanks.

mm

— ]

mm

There are mmin1cm.

a=__.cm mm
=__cm mm

c=__cm mm
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Rosie is measuring a sunflower using a
30 cmruler.
Rosie says,

o The sunflower

g is 150 cm tall.

Rosie is incorrect.

Explain what mistake she might have

made.
How tall is the sunflower?
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Ron is thinking of a measurement.
Use his clues to work out which
measurement he is thinking of.

In mm, my
measurement is
a multiple of 2

It has 8 cm and
some mm
It's less than 85
mm
* In mm, the digit
sum is 12
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Complete the sentences.

Rosie i than Jack.
Child Height osie s anJac

Amir is than Rosie.
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Four friends are building towers.

Eva's tower is 22 cm and 7 mm tall.

Teddy'’s tower is 22 cm tall.

Annie’s tower is 215 mm tall.

Dexter’s tower is 260 mm tall.

Order the children’s towers in descending order.

C JeCJelJe
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Sort the lengths into the table.

Longer than a Shorter than a
metre metre

‘1m65cm} ‘165mm’ ‘ 165 m ’

‘ 165cm} ‘ 16cm5 ’ ‘ 1cm 65 ’
mm mm

Are any of the lengths equivalent?
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Always, Sometimes, Never?

mm lengths are smaller than cm lengths.




image23.png




image24.png
Emoji Multiplication Mosaic

Multiplication 2x, 3x, 5x and 10x tablcs.
Solve the maths problems to reveal the hidden picture. Each answer has a
special colour:
2, 4,5, 25, 35, 40, 60, 90, 100, 110 = yellow 14, 15, 16, 21, 27 = green
3, 6, 8, 30, 45, 50, 55, 70, 80, 120 = black
9, 10, 12, 33 = white

18, 20, 22, 24, 36 = red

7x2 5x3 8x2 2x1 2x2 1x5 5x5 7x3 9x3 2x7
3x5 7x5 5x8 [2x20|10x4 |30x2[10x6|3x30|10x9| 2x8
10x10(25x2 | 14x5| 1x3 [2x50|11x10| 6x5 9x5 | 11x5 1x2
5x1 | 15x2| 2x2 | 2x4 | 5x7 |20x2| 3x2 | 4x10|10x8 |2x30
6x3 | 3x8 [9x10 [10x10[50x2 [10x11| 2x1 [ 2x2 [12x3 [18x2
S5x4 | Mx2 | 1x5 | 5x5 | 5x7 | 8x5 [20x2|[10x4 | 8x3 | 2x18
30x2[10x6 | 3x3 | 2x5 | 6x2 | 4x3 | 3xM [ 3x4 [3x30(|9x10
10x10|50x2 |11x10|10x12|2x25|5x14 | 5x6 | 1x2 | 5x1 | 5x7
3x7 [20x2|4x10[2x30| 5x9 | 5x11 [ 9x10 |10x10|{50x2 | 3x9
2x7 5x3 8x2 [10x11| 2x1 2x2 1x5 7x3 9x3 2x7
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Year 3 Multiplication and Division
Word Problems x3 x4 x8

1. How many wheels
would 9 tricycles have?

24 people travel to an
airport in taxis. 4 people
travel in each taxi. How
many taxis are used?

Hanan is a keen archer.
One day she shoots 5
arrows. Each arrow
scores an 8. What

is her total score?

4. Three judges award 27
marks overall. They each

give the same score. What

score did they each give?

Cinema tickets are £8.
Six people go to see a

film. How much will

they pay altogether?

Cans of lemonade are
sold in packs of 4.
Cherie wants 36 cans
for a party. How many
packs should she buy?

7. Trish, Karen and Layla
share equally a packet
of nuts. There are 21
nuts in the pack. How
many nuts do each get?

A machine making
mango pieces puts 8
pieces in each snack
packet. The machine
makes 88 pieces in 1
minute. How many
packets are filled
every minute?

A carpenter makes
tables. Some have 3

legs and some have &4
legs. He plans to make 5
tables with 3 legs, and 4
tables with 4 legs. How
many legs will he need?
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1x1=1
2x1=2
3x1=3
4x1=4
5x1=5
6x1=6
7x1=17
8x1=8
9x1=9
10 x1=10
Mx1=1
12x1=12

7x table

1x7=17
2x7=14
3x7=21
4 x7=28
5x7=35
6x7=42
7x7=49
8 x7=56
9x7=63
10 x7=70
Mx7=77
12 x7 =84

2x table

1x2=2
2x2=4
3x2=6
4x2=8
5x2=10
6x2=12
7x2=14
8x2=16
9x2=18
10 x 2 = 20
11 x2=22
12x 2 =24

8x table

1x8=8
2x8=16
3x8=24
4 x 8 =32
5x8=40
6 x 8 =48
7 x 8 =56
8 x 8 = 64
9x8=72
10 x 8 = 80
11 x 8 = 88
12 x 8 =96

3x table

1x3=3
2x3=6
3x3=9
4 x3=12
5x3=15
6 x3=18
7x%x3=21
8x3=24
9 x 3 =27
10 x 3 = 30
11 x3=33
12 x 3 =36

9x table

1x9=9
2x9=18
3x9=27
4 x9=36
5%x9=45
6 x9 =54
7%x9=63
8x9=72
9 x 9 =81
10 x 9 = 90
11 x9 =99
12 x 9 =108

4x table

1xb4=4
2x4=8
3x4=12
Lx4=16
5 x4 =20
6x4=24
7x4=28
8 x4 =32
9 x4 =36
10 x 4 = 40
1M x64 =44
12 x 4 = 48

10x table

1x10=10
2x10 =20
3x10 =30
4 x 10 = 40
5x 10 = 50
6 x 10 = 60
7%x10 =170
8 x 10 = 80
9 x10 =90

10 x 10 = 100

11 x 10 = 110

12 x 10 = 120

5x table

1x5=5
2x5=10
3x5=15
4 x5 =20
5x5=25
6 x5 =30
7x5=35
8 x5 =40
9x5=45
10 x 5 =50
11 x 5 =55
12 x 5 = 60

1x11=11
2x11=22
3x11=33
4 x11 =44
5x11 =55
6 x 11 =66
7x11 =177
8 x11 =88
9 x 11 =99

10 x 11 = 110
11 x 11 =121
12 x 11 = 132

6x table

1x6=6
2x6=12
3x6=18
4 x6=24
5x6 =30
6 x6=36
7x%x6=42
8 x 6 =48
9x6=54
10 x 6 = 60
11 x 6 = 66
12x6=72

1x12=12
2x12=24
3x12=36
4 x12 = 48
5x12 = 60
6 x12=72
7%x12 = 84
8 x12 =96
9 x 12 =108
10 x 12 = 120
11 x 12 = 132
12 x 12 = 144
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What is the length of each pencil?
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Measure the lines to the nearest centimetre.
Can you measure the lines in millimetres?

e
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What unit of measurement would you use to measure these real life
objects? Millimetres, centimetres or metres?

Pencil

Height of a Length of a Length of a
house playground table

Fingernail Eraser
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Whitney’s ruler is broken.
How could she use it to still measure
items?
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